
  

APRIL 2021 60515/BYA6C/CYA6C 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer any TEN questions each in 30 words. 

1. What do you mean by capital gain? 

 ‰»uÚ Buõ¯® £ØÔ }Âº AÔöÁuß£x ¯õx? 

2. What is cost of acquisition? 

 øP¯P¨£kzu¾UPõÚ AhUP® GßÓõÀ GßÚ? 

3. Give the meaning of less tax securities. 

 SøÓ¢u Á› DkPÒ £ØÔ ö£õ¸Ò u¸P. 

4. What incomes are chargeable to income tax U/S 56(2)? 

 Á¸©õÚ Á› \mh® U/S 56(2) –ß RÌÁ¸® Á¸©õÚ[PÒ ¯õøÁ? 

5. Write a note on ‘Clubbing income’. 

 Á¸©õÚzøu JßÖ ÷\ºzuÀ £ØÔ SÔ¨¦ GÊxP. 

6. How are speculation losses set-off? 

 FP Áo£ |mh[PøÍ GÆÁõÖ \›Pmh •i²®? 

7. Give any two examples of agricultural income. 

 ÂÁ\õ¯ Á¸©õÚzvØS H÷uÝ® Cμsk Euõμn[PÒ u¸P. 

8. Write any three ‘no limit donations’. 

 HuõÁx ‰ßÖ Áøμ¯øÓ¯ØÓ |ßöPõøhPøÍ GÊx. 

9. List any three savings that quality for deduction U/S 80C. 

 ¤›Ä 80 C ß RÌ PÈÂØS uSv ö£Ö® ÷\ª¨¦ öuõøP HuõÁx 

‰ßÔøÚ £mi¯¼kP. 

10. What is TDS? 

 TDS GßÓõÀ GßÚ? 
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11. Compute the gross total income for the assessment year 2020-21, 
from the particulars given below : 

 House property (let) – Rs. 30,000 

 Loss from self-occupied home – Rs. 16,000 

 Income from let-out house – Rs. 20,000. 

 RÌUPõq® ÂÁμ[PøÍU öPõsk Á›Âv¨¦ Bsk 2020–21 US 

•iö©õzu Á¸©õÚzøuU PnUQkP. 

 Ãmka ö\õzx (ÁõhøP) – ¹. 30,000 

 ö\õ¢u Si°¸¨¤À EÒÍ Ãmkö\õzvß ‰»® |mh® – ¹. 16,000 

 ÁõhøPUS Âh¨£mh Ãmka ö\õzvß ‰»® Á¸©õÚ® –¹. 20,000 

12.  Compute the taxable Income of Mr. X. 

 Income from card games – Rs. 50,000 

 Loss from card games –  Rs. 5,000 

 Loss on maintenance of race horses  –  Rs. 10,000 

  Profit on horses races    –  Rs. 20,000 

 v¸. X Gß£Á›ß Á›USm£mh Á¸©õÚ[PøÍ PnUQkP. 

 ^mk ÂøÍ¯õmi¼¸¢x Á¸©õÚ® – ¹. 50,000 

 ^mk ÂøÍ¯õmi¼¸¢x |mh® –  ¹. 5,000 

 Svøμ¨£¢u¯ £μõ©›¨£¼¢x |mh®  –  ¹. 10,000 

  Svøμ¨ £¢u¯® ‰»® C»õ£®  –  ¹. 20,000 

SECTION B — (5  5 = 25 marks)  

Answer any FIVE questions each in 200 words. 

13.  Distinguish between short term capital gain and long term 
capital gain. 

 }sh Põ» ‰»uÚ Buõ¯zv¼¸¢x, SÖQ¯ Põ» ‰»uÚ Buõ¯zøu 

÷ÁÖ¨£kzxP. 

14.  From the following particulars calculate income from other 
sources. 

  (a) Rs. 25,000 interest form Post-office savings Bank Account. 

 (b) Rs. 25,000 from 10% debenture of listed tea company 

  (c) Rs. 4,000 interest received from National development 
Bonds. 
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 (d) Rs. 2,500 received as interest from, the debentures of a co-

operative society. 

 (e) 10% tax free debenture of Chennai municipal corporation 
Rs. 25,000. 

 RÌPõq® ÂÁμ[PøÍU öPõsk HøÚ¯ Buõμ[PÎ¼¸¢x Á¸® 

Á¸©õÚzøuU PnUQkP. 

  (A) Ag\»P ÷\ª¨¦ Á[Q PnUQ¼¸¢x ö£ØÓ Ámi  

¹. 25,000  

 (B) £mi¯¼h¨£mh ÷uÜº P®ö£Û°ß 10% PhÜmk £zvμ[PÒ 

‰»® ¹. 25,000  

  (C) ÷u]¯ ÁÍºa]/÷©®£õmk £zvμ[PÎ¼¸¢x Ámi ö£ØÓx ¹. 

4,000  

 (D) TmkÓÄ \[P PhÜmk £zvμ[PÎ¼¸¢x ö£ØÓ Ámi ¹. 

2,500  

 (E) ö\ßøÚ •Û]£À Põº¨÷£μõÛß 10% Á›¯ØÓ PhÜmk 

£zvμ® ‰»® ö£ØÓx ¹. 25,000. 

15.  Master Ajay (Age 16 years) received following income during 
2019-20. 

  Rs. 

  (a)  Interest on Bank deposits   75,000 

 (b) Interest on Govt. securities   80,000 

  (c) Interest on Debentures    40,000 

 (d) Income by acting in a film   1,00,000 

  (e) Income by a singing concert held by him  50,000 

 (f) His Father total income   1,09,000 

  (g) His mother total income    1,09,100 

 Decide about the person in whose hands the above incomes shall 

be taxable and the amount of income to be taxed. 
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 ©õìhº Aá´ (16 Á¯x) 2019–2020 B® BsiÀ ö£ØÓ 

Á¸©õÚ[PÒ RÌÁ¸©õÖ : 

  ¹. 

  (A) Á[Q øÁ¨¤¼¸¢x Ámi  75,000 

 (B) Aμ_ HkPÎ¼¸¢x Ámi   80,000 

  (C) PhÜmk £zvμzv¼¸¢x Ámi 40,000 

 (D) ]Û©õ |i¨¤¼¸¢x Á¸©õÚ®   1,00,000 

  (E) £õk® ÷£õmi°¼¸¢x Á¸©õÚ®  50,000 

 (F) AÁ¸øh¯ u¢øu°ß ö©õzu Á¸©õÚ®   1,09,000 

  (G) AÁ¸øh¯ uõ°ß ö©õzu Á¸©õÚ®  1,09,100 

 ¯õ¸øh¯ Á¸©õÚzxhß ÷©÷» EÒÍ Á¸©õÚ[PøÍ ÷\º¨£x 

Gß£x £ØÔ •iöÁk, ÷©¾® GÆÁÍÄ Á¸©õÚ öuõøPUS  

Á› ÂvUP£k®. 

16.  From the following particulars compute the total income of  
Mr. David for the assessment year 2020-21. 

  Rs. 
  (a) Loss from house property   10,000 
 (b) Short term Capital gain on sale of shares   1,05,000 
  (c) Long term Capital loss on sale of bonds   85,000 
 (d) Other sources : interest on Government securities  10,000 

  The assesses has unabsorbed depreciation of Rs. 25,000 being 
brought forward from 2017-18. Assesses had closed the business 
and all the assets have been disposed of. 

 RÌÁ¸® Â£μ[PøÍU öPõsk, v¸. ÷hÂm AÁºPÒ 

Á›Âv¨£õsk 2020–21 ß ö©õzu Á¸©õÚzøuU PnUQkP. 

  ¹. 

  (A) Ãmka ö\õzv¼¸¢x |mh®    10,000 

 (B) £[SPøÍ ÂØ£øÚ ö\´uvÀ SÖQ¯ Põ» ‰»uÚ Buõ¯®   1,05,000 

  (C) £zvμ[PøÍ ÂØ£øÚ ö\´uvÀ }sh Põ» ‰»uÚ |mh®   85,000 

 (D) HøÚ¯ ‰»[PÒ : Aμ_PÎß ‰»® ö£ØÓ Ámi  10,000 

 ©v¨¥miØS›¯º ‰»® DºUP¨£hõu ÷u´©õÚ® ¹. 25,000 BS®. 

Aøu •ß÷ÚõUS Gkzx ö\´Áx 2017–18. ÷©¾® 

©v¨¤miØS›¯Áº ÁoPzøu ‰iÂmhõº. ÷©¾® ö\õzxUPø²® 

ÂØÖÂmhõº. 
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17.  Explain various kinds of agricultural Income. 

 ÂÁ\õ¯ Á¸©õÚzvß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

18.  Sri Anand earned gross total income of Rs. 5,00,000 in the 
previous year 2019-20 and made the following donation during 
the year. 

  (a)  Rs. 10,000 to chief Minister's Earthquake relief fund. 

 (b) Rs. 15,000 to National Foundation for communal Harmony. 

  (c) Rs. 40,000 to municipal corporation approved for 
Promotion of family planning. 

 (d) Rs. 25,000 to approved institutions. 

  (e) Donations : Clean ganga fund – Rs. 12,000 

  Swachh Bharath Kosh –Rs. 8,000. 

National fund for  control of drugs abuse: Rs. 15,000 

  Compute the amount of deduction admissible to him u/s 80-
G for the AY 2020-21. 

 v¸. BÚ¢z AÁºPÎß •¢øu¯ Bsk 2019–20 À Dmi¯ •Ê 

ö©õzu Á¸©õÚ® ¹. 5,00,000 BS®. ÷©¾® A¢u BsiÀ 

öPõkzu |ßöPõøhPÒ RÌÁ¸©õÖ : 

  (A)  ¹. 10,000 I •uÀÁº {»|kUP {Áõμn {v 

 (B) ¹. 15,000 ÁS¨¦Áõu CønUPzvØPõÚ ÷u]¯ AÓUPmhøÍ 

  (C) ¹. 40,000 –I ©õ|Pμõm]¯õÀ AÝ©vUP¨£mh Sk®£ 

Pmk¨£õmk {ÖÁÚzvØS   

 (D) ¹. 25,000 –I AÝ©vUP¨£mh {ÖÁÚ[PÐUS. 

  (E) |ßöPõøhPÒ : P[øP _zu©õUP {v ¹.12,000 

  _Áa C¢v¯õ vmhzvØS – ¹. 8,000. 

÷£õøuUS Aiø©¨£mhÁ›ß Pmk¨£õmk ÷u]¯ {v –  

¹. 15,000 

  Á›Âv¨£õsk 2020-21 À ¤›Ä 80 G ß RÌ AÝ©vUP¨£mh 

PÈÄz öuõøP°øÚ PnUQkP. 
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19.  Calculate the tax liability of Mr. Alok for the assessment year for 
the particulars given below: 

 Income from salary   – Rs. 3,00,000 (computed) 
 Income from house property   – Rs. 74,000. 
 Income from other source   – Rs. 1,50,000 
 Donation to national defense fund   – Rs. 8,000.  

 RÌÁ¸® ÂÁμ[PøÍU öPõsk |h¨¦ ©v¨¥mk BsiÀ v¸. 

A÷»õU AÁºPÎß Á› ö£õÖ¨¤øÚU PnUQkP.  

 \®£Í[PÎ¼¸¢x Á¸©õÚ®   – ¹. 3,00,000 (PnUQh¨£mhx) 

 Ãmka ö\õzv¼¸¢x Á¸©õÚ®   – ¹. 74,000 

 HøÚ¯ Buõμ[PÎ¼¸¢x Á¸©õÚ® – ¹. 1,50,000 

 ÷u]¯ £õxPõ¨¦ {vUS |ßöPõøh – ¹. 8,000.  

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions each in 500 words. 

20.  State the provisions relating to clubbing of income of other 
persons. 

 ©ØÓ |£ºPÎß Á¸©õÚzøu JßÖ ÷\ºzu¼ß \μzxUPøÍ TÖP. 

21.  Mr. Mani gives the following particulars about the assets sold 
during 2019-20. 

Particulars Jewellry Plot Gold 
 Rs. Rs. Rs. 

Selling price 4,00,000 20,24,000 3,00,000 
Selling Expenses - 24,000 - 
Cost of purchase 20,000 2,80,000 1,00,000 
Year of purchase 2003-04 2009-10 2010-11 
CII 109 148 161 

  He had purchased a house for Rs. 12,00,000 on 1.3.2019. 
Calculate the amount of capital gain. If CII 2019-20-289. 

 v¸. ©o AÁºPÒ 2019–20 B® BsiÀ ö\õzx ÂØ£øÚ £ØÔ¯ 

uPÁÀPøÍ RÌÁ¸©õÖ u¸QÓõº. 

ÂÁμ[PÒ |øPPÒ ©øÚ ¹. u[P® ¹. 

ÂØ£øÚ Âø» 4,00,000 20,24,000 3,00,000 
ÂØ£øÚa ö\»ÄPÒ - 24,000 - 
öPõÒ•uÀ AhUP® 20,000 2,80,000 1,00,000 
öPõÒ•uÀ ö\´u Bsk 2003-04 2009-10 2010-11 
CII (ö\»Ä £nÃUP SÔ±möhs) 109 148 161 

 01.03.2019 AßÖ ©o AÁºPÒ J¸ ÃmiøÚ ¹. 12,00,000 US 

Áõ[QÚõº. ‰»uÚ Buõ¯zøu PnUQkP. (CII 2019-20-289). 
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22.  From the following  compute Income from other sources for the 
assessment year 2020-21. 

 Rs. 

  (a) Interest (gross) on Investment with a company   20,000 

 (b) University remuneration for working on an examiner  16,000 

  (c) Royalty for writing Banks  1,60,000 

 (d) Expenses on writing these banks 40,000 

 (e) Dividend received from a domestic company 12,000 

  (f) Interim dividend   12,000 

 (g) Family Pension 48,000 

 RÌPõq® ÂÁμ[PøÍU öPõsk Á›Âv¨£õsk 2020–2021 US 

HøÚ¯ Buõμ[PÎ¼¸¢x Á¸©õÚzøu PnUQkP : 

 ¹. 

  (A) {ÖÁÚ[PÎÀ EÒÍ •u½kPÎ¼¸¢x   

  ö£ØÓ Ámi ö©õzu®     20,000 

 (B) £ÀPø»PÇP ÷uºÁõÍμõP £o¯õØÓuØS Fv¯®  16,000 

  (C) ¦zuP® GÊv¯uØPõÚ E›ø©zöuõøP 1,60,000 

 (D) ¦zuP® GÊv¯uØPõÚ ö\»ÄPÒ 40,000 

 (E) EÒ|õmk {ÖÁÚzvÀ ö£ØÓ £[Põuõ¯®  12,000 

  (F) Cøh¨£mh £[Põuõ¯®   12,000 

 (G) Sk®£ K´Åv¯® 48,000 

23.  During the previous year 2019-20. Mr. Shyam has the following 
income and expenditure: 

 Rs. 

Income from business 6,80,000 

Capital Gain 14,000 

Winning from camel race 1,700 

Winning from horse race 2,000 

Winning from lottery 1,600 

Income from other sources 10,000 

payment of medical insurance premium 30,000 

Contributions to public provident fund 70,000 

Payment made for sons school fees 90,000 

  Compute his total Income and deductions u/s 80C and U/s 80-D. 
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 2019–20 B® •¢øu¯ BsiÀ, v¸. è¯õ® AÁºPÒ Á¸©õÚ® 

©ØÖ® ö\»ÄPÒ RÌÁ¸©õÖ : 

 ¹. 

ÁoP® ‰»® Á¸©õÚ® 6,80,000
‰»uÚ Buõ¯® 14,000
JmhP £¢u¯® ‰»® öÁßÓx 1,700
Svøμ £¢u¯® ‰»® öÁßÓx 2,000
C»õmh› ‰»® öÁßÓx 1,600
HøÚ¯ Buõμ[PÎ¼¸¢x Á¸©õÚ® 10,000
©¸zxÁ Põ¨¥k •øÚ©® ö\¾zv¯x 30,000
©UPÒ ÷\©|» {v £[PÎ¨¦ 70,000
©PßPÎß £ÒÎU Pmhn® ö\¾zv¯x 90,000

 ¤›Ä 80C ©ØÖ® ¤›Ä 80 D ß PÈÄz öuõøP°øÚ²®, AÁ›ß 

ö©õzu Á¸©õÚzøu²® PnUQkP. 

24.  The particulars of income of Mr. for the financial year 2019-20 
are given below : 

 Rs. 
Gross salary received from ABC Ltd for the year 4,40,000 
Rental income received from the commercial complex 8,00,000 
Arears of rent received from the complex, which  
were not charged to tax in my earler year 

2,60,000 

Interest paid on loan taken for the purchase of a house 
from schedule bank for use as own residence  
(completed prior to 1.4.99) 

1,20,000 

  Compute the total income of X And the tax payable theorem in 
respect of assessment year 2020-21. 

 v¸. X Gß£Áº {v Bsk 2019–20 UPõÚ Á¸©õÚ ÂÁμ[PøÍ 

RÌÁ¸©õÖ u¸QÓõº. 

 ¹. 

ABC ¼ªöhmiÀ A¢u AsiØPõÚ ö©õzu \®£Í® ö£ØÓx 4,40,000 

ÁoP ÁÍõPzvØPõÚ ÁõhøP Á¸©õÚ® ö£ØÓx 8,00,000 

ÁÍõPzvØPõÚ uμ÷Ási¯ ÁõhøP ö£ØÓx •¢øu¯ 

BskPÎÀ Á› Hx® ö£ÓÂÀø» 

2,60,000 

ö\õ¢u Si°¸¨¤ØPõÚ AmhÁøÚ Á[Q°À ö£ØÓ 

PhÝUPõÚ Ámi ö\¾zv¯x (1.4.99 •ß •iÄØÓx) 

1,20,000 

 v¸. X ß ö©õzu Á¸©õÚzøu²®, Á›Âv¨£õsiÀ 2020–21 À 

ö\¾zu ÷Ási¯ Á›°øÚ²® PnUQkP. 

————————— 


